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2 B A ZE 41 39 80 18.0 62.0 400
EEB LT &= 46 42 88 22.0 66.0 300
3L E # 42 45 87 21.0 66.0 200
At RE EH 44 39 83 16.0 67.0 80
541 e % 45 44 89 22.0 67.0 70
64z FiE B 42 36 78 10.0 68.0
741 B2k AR 42 35 77 8.0 69.0 60
841 EH {EiE 37 42 79 10.0 69.0
2 BA =A 42 43 85 16.0 69.0
104iz Wik =X 40 39 79 9.0 70.0 50
114 o I 43 42 85 15.0 70.0
124 wmil A 41 42 83 13.0 70.0
13431 =K —&F 42 42 84 14.0 70.0
14451 KA #H— 46 44 90 20.0 70.0
154 Bk #®H 44 44 88 18.0 70.0
16431 fH EX 44 46 90 19.0 71.0
1741 AA B 54 52 106 35.0 71.0
1841 BX F 46 38 84 12.0 72.0
194z HfE %8 40 40 80 8.0 72.0
20131 h¥ B 43 42 85 13.0 72.0 40
21431 -y VN 44 43 87 15.0 72.0
22141 WE #Co 51 55 106 34.0 72.0
234z FE ER 40 38 78 5.0 73.0
24431 e - 40 38 78 5.0 73.0
2541 a8 UxX 44 43 87 14.0 73.0
26111 HE B 41 43 84 11.0 73.0
274 NH HE 46 45 91 18.0 73.0
28131 TR B— 44 38 82 8.0 74.0
2911 wE 1Ea 42 46 88 14.0 74.0
301 XS FEE 44 47 91 17.0 74.0 40
3141 Rk WE 43 48 91 17.0 74.0
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324 FE it 48 50 98 24.0 74.0

33{iz WH FE 41 40 81 6.0 75.0

34431 AR XKiE 44 42 86 11.0 75.0

354 EE HH 47 39 86 10.0 76.0

3614z =H #F 42 42 84 8.0 76.0

374L BRIS HE 43 44 87 11.0 76.0

38{iL W FH 48 46 94 18.0 76.0

39{x FH #Hit 44 46 90 14.0 76.0

401 EE RAI 39 46 85 9.0 76.0 40
ALfHL H B 49 48 97 21.0 76.0

421 BH BX 46 48 94 18.0 76.0

4311 mH HE 48 50 08 22.0 76.0

44431 M= B a7 51 98 22.0 76.0

A5{i% &k F5 40 40 80 3.0 77.0

46131 E R 50 45 95 18.0 77.0

AT TH BE 47 46 93 16.0 77.0

48431 A & 50 53 103 26.0 77.0

49{iL AR B 50 42 92 14.0 78.0

5043z NE 8 45 44 89 11.0 78.0 40
514 XH S 47 45 92 13.0 79.0

524 =g IE 51 47 98 16.0 82.0

53431 Bl - 47 48 95 13.0 82.0

BBE HE ] 47 46 93 10.0 83.0 60
55{iz XEHx FH 53 49 102 16.0 86.0
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